PARKDGHEES

The typical car parking space should measure 2.8m wide by 5.0m long. This allows for a width of 0.4m for
door opening within the space. The width can be reduced to 2.4m if a 0.4m clearance is available
immediately adjacent to one side of the space. A 6.0m aisle width is required in front of the space to allow
vehicles to easily turn into and out of it. This aisle width may be reduced if the space width is widened
accordingly.
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Parking bays for disabled people are designed so
that drivers and passengers, either of whom may be
disabled, can get in and out of the vehicle easily.
They allow wheelchair users to gain access from the
side and rear.
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For parking parallel to the highway, each space should measure 2.4m wide by 6.0m long.
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